

$$r\chi = r\sin\chi - 1 \rightarrow 1 - r\sin\chi + r\sin\chi - 1 \rightarrow r\sin\chi + r\sin\chi - r = 0$$

$$\sin\chi + r\sin\chi - r = 0 \rightarrow (\sin\chi - r)(\sin\chi - 1) \rightarrow \sin\chi = \frac{1}{r} \rightarrow \sin\chi = \sin\frac{\pi}{4} \rightarrow \chi = 2K\pi + \frac{\pi}{4}$$

$$\chi = 2K\pi + \pi - \frac{\pi}{4}$$

$$\rightarrow) \cos r\chi + \cos\chi - r = 0 \rightarrow 1 - r\cos r\chi + \cos\chi - r = 0 \rightarrow r\cos r\chi - \cos\chi + 1 = 0$$

$$\rightarrow \cos r\chi - \cos\chi + r = 0 \rightarrow \cos r\chi = \cos\chi \rightarrow \Delta = 1 - r\chi < 0 \rightarrow \boxed{\text{جواب ندارد}}$$

$$\sin r\chi - \cos r\chi + \sin r\chi \rightarrow \sin r\chi \cdot \cos r\chi \rightarrow -\cos r\chi = r\sin r\chi \cos r\chi$$

$$r\sin r\chi \cos r\chi + \cos r\chi = 0 \rightarrow \frac{\cos r\chi (r\sin r\chi + 1)}{\sin r\chi = \frac{1}{r}} \rightarrow \cos r\chi = \cos r\chi \rightarrow r\chi = K\pi \pm \frac{\pi}{4}$$

$$\rightarrow) r\cos r\chi + r\sin r\chi \sin r\chi = 1 \rightarrow r\cos r\chi - 1 = r\sin r\chi \cos r\chi \rightarrow \cos r\chi = -\sin r\chi$$

$$r\chi = K\pi - \frac{\pi}{4} \rightarrow \chi = \frac{K\pi}{r} - \frac{\pi}{r}$$

$$\text{حل 1) } \cos(\frac{\pi}{r} + \chi) \cos(\chi - \frac{\pi}{r}) = \frac{1}{r} \rightarrow \sin(\frac{\pi}{r} - \chi) \cos(\frac{\pi}{r} - \chi) = \frac{1}{r}$$

$$\frac{1}{r} \sin(\frac{\pi}{r} - \chi) = \frac{1}{r} \rightarrow \cos r\chi = \frac{1}{r} \rightarrow \cos r\chi = \cos \frac{\pi}{r} \rightarrow r\chi = K\pi \pm \frac{\pi}{r}$$

$$\rightarrow) \cos(r\chi - \frac{\pi}{r}) = -\sin r\chi \rightarrow \cos(r\chi - \frac{\pi}{r}) = \cos(r\chi + \frac{\pi}{r})$$

$$\rightarrow \frac{r\chi - \frac{\pi}{r}}{r} = K\pi + \frac{\pi}{r} + \frac{\pi}{r}$$

$$\rightarrow r\chi - \frac{\pi}{r} = rK\pi - r\chi - \frac{\pi}{r}$$

$$\rightarrow \frac{r\chi}{r} = rK\pi + \frac{\pi}{r} - \frac{\pi}{r}$$

$$\cos r\chi (r\cos r\chi + 1) = \frac{1}{\sin r\chi}$$

$$\rightarrow \frac{\cos r\chi}{\sin r\chi} (r\cos r\chi + 1) = \frac{1}{\sin r\chi}$$

$$r\sin r\chi - \sin r\chi \cos r\chi + \cos r\chi = r \rightarrow 1 + \sin r\chi - \sin r\chi \cos r\chi = r$$

$$\frac{\sin r\chi + \sin r\chi}{\sin r\chi} - \sin r\chi \cos r\chi \rightarrow \sin r\chi = \sin r\chi + \sin r\chi \cos r\chi$$

$$\sin r\chi + \cos r\chi \sin r\chi \rightarrow \sin r\chi = 0 \rightarrow \sin r\chi = \sin r\chi$$

$$\rightarrow r\chi = K\pi + \frac{\pi}{r} \rightarrow \chi = \frac{K\pi}{r} + \frac{\pi}{r}$$

$$r\chi = K\pi + \pi - \frac{\pi}{r} \rightarrow \chi = \frac{K\pi}{r} - \frac{\pi}{r}$$

$$\frac{\sin \frac{\pi}{r}}{1 + \cos \frac{\pi}{r}} = \frac{1}{\sin \frac{\pi}{r}} + \frac{\cos \frac{\pi}{r}}{\sin \frac{\pi}{r}} \rightarrow \tan \frac{\pi}{r} = \frac{r \cos \frac{\pi}{r}}{r \sin \frac{\pi}{r} \cancel{\cos \frac{\pi}{r}}} \rightarrow \tan \frac{\pi}{r} = \cot \frac{\pi}{r}$$

$$\frac{\pi}{r} = \frac{r\pi}{r} + \frac{\pi}{r} \rightarrow \pi, 2\pi + \pi \rightarrow \boxed{-\pi, \pi}$$

$$\cos \varphi_n = \sin \varphi_n \cos \varphi_n = 1$$

$$(1 - \cos \varphi_n) \rightarrow (r \cos \varphi_n - r \cos \varphi_n) \rightarrow r \cos \varphi_n - r \cos \varphi_n - r \cos \varphi_n + r \cos \varphi_n$$